omegongo

estia

84951

Quick Start

Omeggn,,,

46.6
Fig. 2
o]
0
Fig. &
5 < o «| R25 R21
e ~— N N
R ——=
EECEC nd )
C D)
T
| Seece=
93
Fig.5

Fig. 6

Ol
o lo ] o] o)
=== =

Fig. 8

Fig. 10

gg BEEE B2
0000

Fig.9

Fig. 12

Fig. 14

Fig. 17

Fig. 1- 3: Body dimensions

Fig. & + 5: Bracket dimensions

Fig. 6: Estia body

Fig. 7: Standard connection bracket; hand control

Fig. 8: Flexible couplers

Fig. 9: Screws and washers

Fig. 10: USB data cable (USB-A to USB-C); temperature sensor

Fig. 11: Hex wrenches

Fig. 12: Use 2x M3 screws to assemble the L bracket

Fig. 13: Remove the coarse focusing knob from your telescope’s focuser
Fig. 14: Install the appropriately sized flexible coupler on the focuser shaft
Fig. 15: Mount the Estia body on the coupler

Fig. 16: Use the M4 and M5 screws to attach the L bracket on the focuser base. Then
screw the motor body to the bracket.

Fig. 17: Choose the hand control or the temperature sensor; connect the motor to a
power source or a computer via USB.



Fig.
Fig.
Fig.

Fig.

Fi

Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.

Fig.

g.

1-3: Gehduseabmessungen.

4 + 5: Abmessungen Montageplatte.

6: Estia-Gehause.

7: Montageplatte; Handsteuerung.

8: Flexible Kupplungen.

9: Schrauben und Scheiben.

10: USB-Datenkabel (USB-A zu USB-C); Temperatursensor.
11: Sechskantschlissel.

12: Setzen Sie die L-Platte mit 2x M3 Schrauben zusammen.

13: Nehmen Sie den Knopf fur die (Grob-)Fokussierung von lhrem Okularauszug ab.

14: Bringen Sie das passende Kupplungsstiick an der Welle des Okularauszugs an.
15: Montieren Sie das Estia-Gehduse an das Kupplungsstick.

16: Montieren Sie die L-Platte mit den M4- und M5-Schrauben am Gehduse des

Okularauszugs. Dann schrauben Sie das Motorgehduse an die Platte.

Fig.

17: Wahlen Sie die Handsteuerung oder den Temperatursensor; verbinden Sie den

Motor per USB mit einer Stromquelle oder einem Rechner.

Fig. 1- 3: Dimensions du corps.
Fig. & + 5: Dimensions du support.

Fi

g. 6: Corps Estia.

Fi

g. 7: Support de connexion standard ; commande manuelle.

Fig. 8: Accouplements flexibles.

Fig. 9: Vis et rondelles.

Fig. 10: Cable de données USB (USB-A vers USB-C) ; capteur de température.
Fig. 11: Clés Allen.

Fig. 12: Utiliser 2 vis M3 pour assembler I'équerre en L.

Fig. 13: Retirer le bouton de mise au point grossiére du porte-oculaire de votre
télescope.

Fig. 14: Installer I'accouplement flexible de Ia taille appropriée sur I'arbre du
porte-oculaire.

Fig. 15: Monter le corps Estia sur |'accouplement.

Fig. 16: Utiliser les vis M4 et M5 pour fixer I'équerre en L sur I3 base du
porte-oculaire. Visser ensuite le corps du moteur sur I'équerre.

Fig. 17: Choisir la commande manuelle ou le capteur de température ; connecter le
moteur 3 une source d'alimentation ou a un ordinateur via USB.

Fig.
Fig.
Fig.
Fig.

Fig.

Fi

=}

Fig.

Fi

=}

Fi

=}

Fig.
Fig.
Fig.

Fig.

1-3: Dimensiones del cuerpo.

4 + 5: Dimensiones del soporte.

6: Cuerpo Estia.

7: Soporte de conexion estandar; control manual.

8: Acoplamientos flexibles.

. 9: Tornillos y arandelas.

10: Cable de datos USB (USB-A a USB-C); sensor de temperatura.

. 11: Llaves Allen.

.12: Utilice 2 tornillos M3 para ensamblar el soporte en L.

13: Retire la perilla de enfoque grueso del enfocador de su telescopio.
14: Instale el acoplamiento flexible del tamafo adecuado en el eje del enfocador.
15: Monte el cuerpo Estia en el acoplamiento.

16: Utilice los tornillos M4 y M5 para fijar el soporte en L a la base del enfocador.

Luego atornille el cuerpo del motor al soporte.

Fig.

17: Elija el control manual o el sensor de temperatura; conecte el motor a una

fuente de alimentacion o a una computadora a través de USB.

Fig. 1- 3: Dimensioni del corpo.

Fig. 4 + 5: Dimensioni della staffa.

Fig. 6: Corpo Estia.

Fig. 7: Staffa di connessione standard; controllo manuale.

Fig. 8: Giunti flessibili.

Fig. 9: Viti e rondelle.

Fig. 10: Cavo dati USB (USB-A a USB-C); sensore di temperatura.

Fig. 11: Chiavi a brugola.

Fig. 12: Utilizzare 2 viti M3 per assemblare Ia staffa a L.

Fig. 13: Rimuovere la manopola di messa a fuoco grossolana dal focheggiatore del
telescopio.

Fig. 14: Installare |'accoppiamento flessibile della dimensione appropriata sull'albero
del focheggiatore.

Fig. 15: Montare il corpo Estia sull'accoppiamento.

Fig. 16: Utilizzare le viti M4 e M5 per fissare la staffa a L sulla base del focheggiatore.
Quindi avvitare il corpo motore alla staffa.

Fig
au

. 17: Scegliere il controllo manuale o il sensore di temperatura; collegare il motore
na fonte di alimentazione o a un computer tramite USB.

AEmEm

nstruction
Manual
.

www.omegon.eu/p,84951

Q Scan to download

D
omegon.eu

Product designed and intended for those 14 years and older.

Made in China | Hergestellt in China | Fabriqué en Chine

Hecho en China | Fabbricato in China

Imported by NIMAX GmbH - Otto-Lilienthal Str. 9

86899 Landsberg am Lech - GERMANY

© nimax GmbH - Germany

All pictures shown are for illustration purpose only. Actual product may vary.




